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Database, advanced, 22.10.2019. Neptun-code: zweml
(10 1245 =27 points)

A. Complete the following sentences/answer the following questions! (10 points)
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The cost of a search in B+ Iree based index depends on the .olepth b of the tree, which in turn, can

be estimated by taking .. &2 g Aeltaie. — (some function) of the number of values.

The size of the B+ tree based index is 'tl"" ok S S .. size of the table.
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The size of one node ofa B+ 1ree based index is around 4/3,/ 31 Thls is determined by
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A B+ tree based index does not support the following types of queries efficiently:
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B. (12 points)
The following table is given. (A red star
indicates a NOT NULL constraint. The created oy e
index with its attributes is also included.) There i NUMBEH (* 0) 3
AR HARD S8 BT E)
are also some queries and some query plans. iz sl
DESCRIPTION VAR HARD CO0D Y Ty
3 USER_ID NUMBER (' 0)
1. Which query plan belongs to which query? T AT o b AR
Explain your choice! UPDATED_AT TIMES TAMF WiTH Tl ZONE
. EAPIRES_AT THSRS TAMP i F e |l JONE
2. How are the query plans to be interpreted? (Is DURATION WUMBER (* 0)
an index used - if yes why?, how? - is the Bty IO by ol by
table accessed - why?) Bty oyt et ooy
3. If the amount of data increases by a factor of * EAPIRES_AT_ZOME  NULIBER [ 0)
1000, how will the cost of the query AR IR AT GRS, A
(~response time) change? (For some queries,
no exact value, just a description, trend is expected.) L/
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SELECT COUNT (description) = (I ) = M e (th
|WDE. X et Hagant 1'
FROM autflio_ii . clost. ool o Vakt Wmi-} IS 28
WHERE title > 'Y' AND title < 'Z'; DULL <4 wo— 4le table 03 wbe Mg el
Lrre wwifies,
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SELECT COUNT (description) = (£) Stwple vouy !

FROM audio_ii b WDSX, e’
WHERE title > 'E' AND title < 'Z'; @y ./ |poeX ?‘TA&“E
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SELECT COUNT (*)
FROM audio_ii
WHERE author LIKE 'X%';
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SELECT COUNT (*)
FROM audio_ii
WHERE title LIKE 'X%';
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(C) (5 points)
The following three tables are given.

s

Staﬂ__ld [ Division_

FK |Division_Id Name
Address Address
Phone_MNumber Other Fields Open_Date
Date_Open d __10therFields
Other Fields

Write an SQL statement, that calculates for each division the size of the staff and
the number of branches.

» We only need three columns in the result: division _id, staff count,
branch_count.

 The values should also be correct if there is no staff for a division, and/or
there is no branch for a division.
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